[ Efficiency vs vertpos |
-~ 0.5

20.45
2
2 04
(&)
$0.35
0.3
0.25
0.2
0.15
0.1
0.05

ICI

effi

10

1 10 0?
TP vertr (cr%)

Efficiend

" DQM_V0001_R000000001__Global__CMSSW_X_Y_Z_ RECO

~ 0.5
20.45F

2 F
b0 1| = S S

> E

2 E

_90.35:— _________________________
o o

E Q.3F - reeeeeeeans

5}

0.25F
0.2
0.15F
0.1
0.05F
0!

.................

.................

Ratio

0.95

0.9

10 20 30
TP vert z (cm)

0

[ Efficiency vs. sim PV z |

~ 0.5
>

8.0.45
£

175} 0.4
20.35F
0.3

Ratio

0.9 L

0-8 6 4 -2 0 2 4 6 8 10
Sim. PV z (cm)




	Contents
	Page 1


